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Math 9 Enriched

2.4 Scientific Notations

Name A“C@ ZMQ

1. Write scientific notation for 32500.

=35 10" =25 ]

2. Write the standard numeral for 7.5 x 10°.

\‘( 50000

3. Write scientific notation for 0.000489.

10

P

Simplify: (2.4)(2.4 x 10%) + 1000

5. Bxpress as a decimal: 51.362 x 107

=\5136. 2

6.  Simplify: (3.2 x 10%) + (1.6 x 10?)

54« [OF

8.  Express as a decimal:

36.85 x 1073
on> ) T

168.5 x 1072
. hen — e
9. When s x 100

scientific notation, what is the value of A7

a) 4.3 @4.4 c) 4.5
- -

ISERA®)

‘\____.___._—«—

- QLU Ux 10T = LYy x|

Bx 1Py 6x 1T~ 12 )

d) 4.6

hd '
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2 x 1O "LL'” s
54 > 197 :

is worked out, rounded to one decimal place, and written in the form A x 107 for

e) 4.7
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78.9 x 1071
10. When 00427 x 1030 is worked out, rounded to one decimal place, and written in the form A x 102 for

scientific notation, what is the value of A7

a) 1.6 b) 1.7 O 1.8 d) 1.9 e) 2.0
189 x 107

N
. |~§§><(3l'
H2 x 107 H

11. A star is 3.4 x 10% light years away. In scientific notation, how far away is a star (in light years) that is
only half as far away?

a) 1.7 x 58 b) 3.4 x 5 ¢) 1.7x10* d) 3.4 x 10* \9) 1.7 x 108

2
3” x '

P

|7 % \Q?

12.  Approximately how many seconds has someone who has just turned 17 years old been alive?

{ !/Y OQDE) % S % QO ¥ i{:}':‘ =00 ol A N S |

3 £ 100845 U 7 than what ig the (annrovimate) valine ~f 101.699
ERD iy VAL AR YV ILGL 1O LT \L lJP.LUJ\,Llthl:\J) voauiud Ul v

14. (0.000725)(0.008) = A.B x 10 where A and B are single digits, and C is an integer. Find the value of the
sum A+ B+ C.

A 1~ , O A ooy 9 — < 6 :
25107 8'/“:’ =200 |10 = 5.5 (O 573 ~<e>-.»@

Write in scientific notation:

-
ot

1 R
= x 10% x 35.7 x 10%
5

[¥3 2 C

0L x10 x5 x O

16. What is one half of 1.2 x10%%7?

a) 6 x10% 2% (O 39 29
@ 6 x10% S B D = bE(D

c) 0.6 x5 '

d) 1.2 x10%x

e) 1.2 x5%

= : )
53T x 0L x 1) = Qatal x D

17. In scientific notation, express y where (5.37) x (0.00000412) = 2.2124 x 10Y
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18. Express in scientific notation:

Litd R P
0.04 x 106 QU= 107 = 4 <10

19. 9,000,000 x N = 9.9 x 107, Find N and express your answer in scientific notation.

Qr\2f ¥\ =g x 107" — 2
K \pwfv\xﬁxf
P S e -
20. Simplify, expressing your answer in scientific notation:
35x1073 144 x 106 25 ¥ 1 u = 107 [ ;
. _ . . § —— Y2 x 10 e %
175 x 108 12x10% G r 55 (1= jys = =710 xiaxis 2

92. The distance from Pluto to the sun is about 3.67 x 10°mi, and from Neptune to the sun is about
2.79 x 10° mi. How many miles further from the sun is Pluto than Neptune? KExpress your answer in
scientific notation.

o — =1
%&7“a19:0x&~warvr; /

23. Simplify and express the result in scientific notation:

(0.0000009)3(9 x 104%  (G v o' 7 (9107 ) Qg X 3”)""”; ‘T‘r p("'
2 - - Y , - e ————en S A :; x ﬁ‘)‘
(3,000,000)2(0.00243) (RO (A3 [F) | G % 3 (O = ijmw?
2
11@ A= O ]

24. Write 0.007 x 0.00033 in scientific hotation.

T x {(-J“(S e

-3 3 .-(.,’
RS P 1y - » (
2x (0 = 2WBIxIO \2.31% 10 (
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A ,
26. If B= ol where A = 10 billion and B = 25 million, find the value of C. Express your answer in scientific

notation. . . i .
A o 'Q l'/} 1 ‘%Q' ‘\’ '
= — = = = . = ——= = x [Q
B C Qb x (O ) C/ C QF)” ()Ex 25 4O ﬁ«__,_,m,_. . B

__27. 'The numbers 123 4.56 789 xand 999 999 999 ar% multiplied. How many of the digits in the final result are 9’s?

@ 0 o b) 1 ) 2 d) 3 €) 17

28. When the product (5%)(7%?) is expanded, the units digit (That is, the last digit) is:

(@5 b) 3 ) 9 d) 7 e) 0
1=7,9,3,1 522u=1d
AN

29. If w =229 x 381 x 512 .
in order from the smalle
IZS

N
I/Q:,{X{\of{ x:‘{y;z? \j:{)(;?x)(j' Z:'FX:“SL:S/ /\-.___, B
= | —M f}%\/\/\* /\/S

30. What is the number of ordered pairs (a,b) that satisfy the equation: af = 64

a) 3 b) 5 c) 8 @6 e 7

(6w, D (4,3 -%,2)
(8.5 (9,6)  (-2,4) }

31. BHow many four- dl’iit DOolu1 ve Lnnﬁﬁﬁro T

2127 5 381 5 5128 gy — 9126 5 382 o 5128 and = 2125 % 382 5« B129 then list them
L

=
UJ =
!
e |l
)
ot
=

are there with the property that  and 3z have only even digits?
(One such number is & = 8002, since 3z = 24006 and each of z and 3z has only even digits)

7 a)) 82 b) 84 ) 86 d) 88 e) 99
0, Q: L L g ) 4
VA 6&’ / 3 65+
ey ) b = n(? - —-
-\;/nhj 0, 3,3y 273735 =15k 6 b & R '
6 ot {x"@"(“ﬁ - 6 R ;,, x3 - q
(R hos 4o b ' SY+ Qe+ G+ (+ 32472+ 2y
- \ s - ) - [
ofter ©)
2 .6

Q; Ot 33(':»”*’.76‘ - ?\ (") %‘
6

thee _'_L_ % 3




